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A (6] B
@ 17'1' @ n ® 21 @ Zﬂ_ @37‘[
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/AOC = /OCD (- 817}
£OCD = £0ODC (- o]'5H4Zd)

£0DC = /DOB (- 97})
wt2bA] ,DOB = 30°
. £COD = 180° — 30° — 30° = 120°

120°: 30° = 127 : x
120°x = 360°w

Sox=3n
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thS 1204 ABLOC, MB = 4v5, MC =4 9 1, x o] Zo|=
“Fatoet.
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0
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2 = (x= 4)2 + (4VB)?
x> =x*>—-8x+ 16+ 80

8x =96,x =12
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BB — VIZZ =87 = V80 = 45 (em)
AB =2x4V5=28v5 (cm)




A Bope] £7] 274 oh I 2ol 2712 S35t of
E7]9] 9 27]9] Hol?
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o)1, AB = 83 & uj, o] 910 ¥z o]
Lo Fatolet.

\VARR 4
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LOAP = 30°, AP =4+V3 o|E=&
AP : AO = \/5:2:4\/§:E ~AO=8
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AAM o Ao o4& PT'O = /PTO = 90°
A PT'OT ] WZhe] 32 360° o]t
=~ /T’OT + /T'PT = 180°
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S 2]
IHANA PT = ¢
d O 9 HAL o, xy 9
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/T=9
T 0° O]__.DE
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— /72 3v5( cm
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10. th& 294 PA, PB & 9 0 o A4 1, 0APBO ©] E#]9]

ol
A
S
I>p
E:
B
@® 6cm @ (6+6v2)cm ® 12V3cm

@(4+4\/§)cm ® (8 +6V3)em

V3 OA = AP =2V3cm
2 (24+2V3)x2=(4+4V3)em




11. ©& 1A PA, PB £ 9 0 9 HAo|th. PO = 26cm, OA =
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A
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(PAO = /PBO = 90°
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B ~

AE = AF , AABC 9] E8= AE + AF = 2AE
2(10+x) =28 . x=4

AF=AE°|E2 124y=14 .y=2




13. 95 I"9M A AD, E F= L0 9 HHdL W, aABC o] =2 9]
dolE Fstofz=t.

AE = AF , AABC 9] E8|= AE + AF = 2AF
. AABC 9] 8= 2x8 = 16(cm)
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- &B = 9AT = 2VT5(cm)
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AT FE o] §ol7t 64rem® L o, 22

Aol Hal= @ AB o Ao|E F5}oizt.
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[> HEFD 16cm

~&B ~

=l EPl=s R 2 ) Bl
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AOTB |4 R2 - 12 = BT? = 64 |2 & BT = 8cm
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2w, 90 of Yol . .
E

2 9 2 2
@ 4rcm @ grem ® 6.5mcm
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7219 ABC 9] Wi ¢lelal, M D,E,F = A4
oltl, AB = 3cm, BC = 5cm, CA = 4ecm
<o, &0 9 Hele?
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G del B ret st
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sor=1(cm)
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\VARR 4
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DH=DG=6 ..AD=9

AB+CD =BC + AD

6+6+GC=7+9, GC=4

S (Y 0y HERE) =4

Aol FA O A ZF Hof o] 2= AR do Hix| S5 o m
OE = OF = OG = OH = 4 0|t}

(OABCDS] Hel)

= AOAB + AOBC + AOCD + AODA
:%x4x(6+7+10+9)
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O 82 @ 84 3 86 ® 88 @90
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DH=DG=6 ..AD=10
AB+CD =BC + AD
7+6+GC=8+10, GC=5

L (909 HtAE) =5

A FAH 0 oA ZF Hef o]2+&= A”=
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DE=13°|E2 CE= V132-122=5
AD = x 2t 5t

AG=AH=6°22 DH=DI=x-6
EF=CF-5=x-6-5=x-11
ED=x-114+x-6=13

o x=15




